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zr = log[L/Lu]

L u L u=28cd/m2range of office
luminance

Qab(zr )=achromatic receptor response
Qab(zr )= b

ln √2
ln[1+ 1

1+√210zr /a’
]−b

a=0,50, b=1,00, e=2,718282
a’=a ln(10)=1,151

10xr =eln(10) xr , 10zr /ln(10)=exr

10xr /a’=10xr  / [a ln(10)]=exr /a
F’ab(xr )=4b/[a{10zr /a’ +10−zr /a’ }2]

a=1,00; b=1,00
F’1_1(zr ) W

N

Q0,5_1(zr )

m
1,01

=0,69
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zr = log[L/Lu]

L u L u=28cd/m2range of office
luminance

Qab(zr )=achromatic receptor response & modified
Qab(zr )= b

ln √2
ln[1+ 1

1+√210zr /a’
]−b

a=0,50, b=1,00, e=2,718282
a’=a ln(10)=1,151

Qab(zr )= b
ln √2

ln[1+ 1
1+√210zr /a’

]−b

F’ab(xr )=4b/[a{10zr /a’ +10−zr /a’ }2]

a=1,00
0,5

; b=1,00
F’1_1F’1_2(zr ) W

N

Q0,5_1(zr )

Q0,5_2(zr )

m
1,01

=0,69

a=0,50
0,5

=0,707

a’=1,628, b=2,00

m
1,02

=1,39
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zr = log[L/Lu]

L u L u=28cd/m2range of office
luminance

Qab(zr )=achromatic receptor response & modified
Qab(zr )= b

ln √2
ln[1+ 1

1+√210zr /a’
]−b

a=0,50, b=1,00, e=2,718282
a’=a ln(10)=1,151

Qab(zr )= b
ln √2

ln[1+ 1
1+√210zr /a’

]−b

F’ab(xr )=4b/[a{10zr /a’ +10−zr /a’ }2]

a=2,00
0,5

; b=2,00

W

N
m

1,01
=0,69

a=1,00
0,5

=1,000

a’=2,302, b=1,00

m
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=0,49
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zr = log[L/Lu]

L u L u=28cd/m2range of office
luminance

Qab(zr )=achromatic receptor response & modified
Qab(zr )= b

ln √2
ln[1+ 1

1+√210zr /a’
]−b

a=0,50, b=1,00, e=2,718282
a’=a ln(10)=1,151

Qab(zr )= b
ln √2

ln[1+ 1
1+√210zr /a’

]−b

F’ab(xr )=4b/[a{10zr /a’ +10−zr /a’ }2]

a=0,50
0,5

; b=1,00

W

N
m

1,01
=0,69
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a’=1,151, b=1,00

m
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zr = log[L/Lu]

L u L u=28cd/m2range of office
luminance

Qab(zr )=achromatic receptor response & modified
Qab(zr )= b

ln √2
ln[1+ 1

1+√210zr /a’
]−b

a=0,50, b=1,00, e=2,718282
a’=a ln(10)=1,151

Qab(zr )= b
ln √2

ln[1+ 1
1+√210zr /a’

]−b

F’ab(xr )=4b/[a{10zr /a’ +10−zr /a’ }2]

a=2,00
0,5

; b=2,00

W

N
m

1,01
=0,69

a=1,00
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a’=2,302, b=2,00

m
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zr = log[L/Lu]

L u L u=28cd/m2range of office
luminance

Qab(zr )=achromatic receptor response & modified
Qab(zr )= b

ln √2
ln[1+ 1

1+√210zr /a’
]−b

a=0,50, b=1,00, e=2,718282
a’=a ln(10)=1,151

Qab(zr )= b
ln √2

ln[1+ 1
1+√210zr /a’

]−b

F’ab(xr )=4b/[a{10zr /a’ +10−zr /a’ }2]

a=0,50
0,5

; b=2,00; b=0,50

W

N
m

1,01
=0,69
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a’=1,151, b=2,00
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zr = log[L/Lu]

L u L u=28cd/m2range of office
luminance

Qab(zr )=achromatic receptor response & modified
Qab(zr )= b

ln √2
ln[1+ 1

1+√210zr /a’
]−b

a=0,50, b=1,00, e=2,718282
a’=a ln(10)=1,151

Qab(zr )= b
ln √2

ln[1+ 1
1+√210zr /a’

]−b

F’ab(xr )=4b/[a{10zr /a’ +10−zr /a’ }2]

a=1,00
0,5

W

N
m

1,01
=0,69

a=1,00
0,5

=0,707

a’=1,628, b=0,50

m
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=0,34
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zr = log[L/Lu]

L u L u=28cd/m2range of office
luminance

Qab(zr )=achromatic receptor response & modified
Qab(zr )= b

ln √2
ln[1+ 1

1+√210zr /a’
]−b

a=0,50, b=1,00, e=2,718282
a’=a ln(10)=1,151

Qab(zr )= b
ln √2

ln[1+ 1
1+√210zr /a’

]−b

F’ab(xr )=4b/[a{10zr /a’ +10−zr /a’ }2]

a=0,50
0,5

; b=0,50

W

N
m
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m
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